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Break Even Analysis
Tllustrate

Chart showing the following:
FC 2 marks

TC 2 marks

TR 2 marks

BEP 5 marks

Forecasted Profit S marks
Margin of Safety S marks
Output in units 2 marks
Cost and revenue 2 marks
(Calculations only :

BEP (4 marks) Profit(4 marks)
Margin Of Safety (4marks))




[image: image2.png]Break Even Chart ( illustrate)

SP=€15
VC=€5 contribution per unit = €15 - €5 = €10
Break-even point = Total fixed costs

Contribution per unit

= 200.000
10 = 20.000 units
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(@) Breakevenpoint  20000units €300.000
(b)  Profit at forecast output €100,000
() Margin of Safety 10,000 units




